Modi Public School, Siliguri
Annual Examination 2022-23

Class 6 Sub: English Language & Literature Time : Z%Hr F.M. : 80

GENERAL INSTRUCTIONS
The Question Paper is divided into THREE sections — READING SKILLS,
GRAMMAR & WRITING SKILLS, AND LITERATURE.

Read the instructions given against each question and answer accordingly.

SECTION A- READING SKILLS [20 MARKS]

I] Read the passage given below.

| am one of the biggest animals in the cat family. My coat is striped, orange and
black. | can hardly be seen when | move through the grass. People say that my coat
is more beautiful than that of other animals in the wild. My eyesight is very good. |
like to hunt at night. | have long claws. | have to take good care of them and keep
them sharp. When it is hot, | like to rest in the shade of a cave or a tree. | am quite a
good swimmer and love to float on water. | know you like to swim and sunbathe, but
| do not like the hot sun too much. Though a cheetah can run faster than me, | can
run quite fast and jump quite high. | do not like to climb trees, like a monkey does. |
am a tiger! I am a good hunter. It was my mother who taught me how to hunt. She
took good care of me when | was a cub. | stayed with her till | was about two years
old. Then | thought that | was old enough to look after myself. It is unfortunate that
some people believe that all tigers kill and eat human beings. Some of us may have
become 'man-eaters', but most of us are not like that. Let me tell you a little secret.
Most of us are more frightened of you than you are of us. The few 'man-eaters' that
do cause harm | am a Tiger and | Need Your Help to human beings are tigers that
have grown old and can no longer hunt. They attack cattle and once in a while
pounce on farmers and people who live in a village near the forest. For many years
now, my fellow tigers and | have been rather worried. So many of us are being killed!
Some people secretly trap and kill us. They are called poachers. In China, our bones
and other parts of our body are used to make medicines. Poachers kill us to sell our

bones. They earn a lot of money.

The forest is our home. We will readily share it with people. If men clear forests for
farming, where will we go? Some of us often stray into villages. Sometimes, villagers
poison tigers that attack their cattle. The humans and their cattle are not our
enemies. We attack them only in self- defense when we are injured, or not in a
position to hunt. | am grateful to the government for starting Project Tiger in India. It
is illegal for people to hunt or kill us. We now live in protected areas. The most
famous among these protected areas are the tiger reserves at Corbett, Dudhwa,
Manas, Bandhavgarh, Periyar, Palamau and Kaziranga. If you ever visit these
places you will see how happily we all live together in the forests. You and | live on
this planet. We can all live peacefully together. We can share what Mother Earth has
given us. My appeal to all young boys and girls is this. 'Help us survive! Together, we
can make the world a better place to live in".

A] Answer these questions.

1] Mention three things that a tiger can do well. [3]
2 Give two reasons why people Kill tigers. [2]
3 When does a tiger become a man-eater? [1]
4 What is Project Tiger? [2]
5] Who taught the speaker how to hunt? [1]
6] Who are poachers? [1]
B] Make sentences with the following words. [4]
1] cub

2] injured

3] readily

4] appeal

1] Read the passage given below. [6]

The crow is the most prominent bird in the world. Crows are found everywhere in the
world except Antarctica. There are about forty types of crows, but we are familiar
with only two or three types of crows. We often see the crows on the top of our
buildings, but they like open spaces where there are dense trees. By the way, the
crows live alone but whenever one of them dies, the other crows hover around it to

mourn. Dead animals are the favorite food of the crows. Crows are neither



vegetarian nor non-vegetarian. That means they eat anything. The average lifespan

of a crow is 14 to 15 years. A crow can lay up to four eggs at a time.
1] How many eggs can a crow lay at a time?
a] Three eggs

b] Five eggs

c] Seven eggs

d] Four eggs

2] When do other crows hover?

a] When they are thirsty

b] When they see a dead animal

c] When a crow dies

d] When they are happy

3] Crows are not found in:

a] Pakistan

b] Antarctica

c] Atlantic

d] The Arctic

4] The favorite food of the crows is:
a] Rabbits

b] Beans

c] Dead animals

d] Fishes

5] Where do crows like to live?

a] In open spaces

b] In jungles

c] On the top of the buildings

d] On roofs

6] Crows are:

a] Vegetarian

b] non-vegetarian

c] both

d] none

SECTION-B GRAMMAR AND WRITING SKILLS [30 marks]

VI] Give the synonyms of: (ANY 3)
A] Adamant-

Bl Jovial-

C] Obscure-

D] Fundamental-

VII] Give the antonyms of: (ANY 3)
A] Judicious-

B] Arrival-

C] Benevolent-

D] Peevish-

VI Fill in the blanks with appropriate prepositions:

A] | haven’t been on a holiday last year.
B] Divide it equally the two of you.
C] The swimmer dived the pool.

D] Tina’s birthday is ____ the fourth of July.

IX] Underline the adverbs and state their kind:
A] Shreya sings sweetly.

B] Joy rarely makes spelling mistakes.

X] Fill in the blanks with appropriate adverbs from the brackets:

Extremely, never, almost

A] | have been to the hills.

B] I was impressed by her singing.

C] Jenny has finished her homework.

(3]

(3]

[4]

[2]

(3]



XI] Change the given sentences from Direct speech into indirect speech: [3]
A] Ali said, “We went for a family dinner yesterday.”
B] The children replied, “We are sorry for our behaviour.”

C] The teacher said, “The sun is also a star.”

XIl] Change the given sentences from indirect speech into Direct speech. [2]
A] Ravi told Manisha that he was tired.
B] She said that she was busy.

X1} You went on a trip to the hills in your holidays. Write a short diary entry of

how you spent your days there. [5]

XIV] You are Varun, Cultural Secretary of Modern International School. Your
school is organising a musical competition in the school. Write a notice

inviting interested students to participate in the competition. [5]

SECTION- C LITERATURE [ 30 marks]

1] Answer ANY FOUR of the following questions in a few words: [4x2=8]
i] What condition did Shylock put forth if the debt was not repaid in time?

il How did Gulliver reach the land of little people?

iii] Who is being referred to as a Daniel? Why?

iv] What ‘repelled and fascinated’ the child at the same time?

v] Briefly describe the shopman of the Magic Shop.

vi] What did the young men do to kill the old lady?

vii] Why did Nellie wish to sail around the world, that too in just 72 days?

viii] Why did Gip’s father enter the shop?

II] Answer ANY THREE long answer based questions: [3X3=9]

i] How did the counselor win Shylock’s confidence? How was he able to get the
judgement in Antonio’s favour?

ii] List the number of things that the child wanted at the fair in “The Lost Child”.

iiil How did the nesting pigeon and other things reach the narrator’s hat? What effect
did it have on him? How would you have reacted in such a situation?

iv] Do you think the poet of ‘The Witch of Glentow’ really promotes witchcraft?
v] How can you say that Nellie Bly was recognised everywhere in the U.S.?
I1I] Make sentences with the following words: [4]
i] dexterous

ii] slay

iii] infuriated

iv] sorely

IV] Mark the correct answer: [5]
i] In ‘The Lost Child’, the favourite sweet of the child was:

a] jalebi b] burfi

c] rasgulla d] gulab-jaman

ii] Portia presented a letter to the Duke of Venice from:

a] Balthazar b] Bassanio
c] Bellario d] Antonio
iii]l There were ____ horses pulling Gulliver.
a] 15000 b] 1000

c] 10000 d] 1500

iv] The magic sword makes the owner:

a] invincible b] sagest
c] perplexed d] conjurer
v] Nellie wanted to break the record of

a] Jules Verne b] Phileas Fogg
d] McGinty

V] Fill in the blanks with the appropriate answers: [4]

c] Joseph Cochrane

i] Two ___ disappeared from the farm in Glentow.

ii] The three boxes that the shopkeeper handed over to Gip had lead soldiers and
the fourth box consisted ofa

iii] The little boy wanted to listen to the music of a

iv] The Lilliputs were barely ____inches tall.
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Choose the correct option. 7x1=7
1] If two ratios are equal, we say that they are in
a] middle term b] extreme term c] proportion d] ratio

2] Which number will we reach if we move 5 numbers to left of +1?
a] +5 b] — 4 c]-5 d] + 4

3] Identify the operation in -7x + 4
a] subtraction and addition b] subtraction and multiplication
¢] multiplication and addition

4] The place value of 2 in 13.029 is
a] 2 b] 0.2 c] 0.02 d] 0.002

5] A wire of length 72 cm is made into the shape of a regular hexagon. What is the

d] subtraction, multiplication and addition

length of each side?

al 432 cm b] 12 cm c]l2m d] 78 cm
6] Which alphabet has no line of symmetry?
a R b] N c]S d] all of them

7] Which of the following statements is not true?
a] A bar graph can be constructed using horizontal and vertical bars.
b] The space between the bars in the bar graph must be equal.
c] The length of the bars in a bar graph represents a number.

d] The data is represented through the pictures in the bar graph.
7x1=7
8] Circles drawn from same centre with different radius is called concentric circle.

9] 3.303 is greater than 3.03.

10] To find the cost of fencing a field, we find its area.

Write True or False.

11] The coefficient of p in 8p + 27 is 8p.
12] Triangle with no line of symmetry is scalene triangle.

13] The ratio of 36:90 in its simplest form is 5:2. Page 1

14] Angle bisector of 60° is 30°.
Fill in the blanks.
15] Unit of area is

6Xx1=6

16] Take Meena’s present age to be y years, what will be her age 6 years from now?
17] Write 18.506 in words

18] Two sides of a triangle are 2.6 cm and 5.4 cm. The perimeter of the

triangle is 15 cm. The third side will be

19] Find the value of missing term from40:5::x : 4
20] Square has lines of symmetry.
Section B [11 x 2 = 22]

[Question 21 to 31 carry 2 marks each]

21] Write four negative integers greater than — 30.

22] Show 2.1, 0.5, 1.4, 0.9 on single number line.

23] Find the value of rin 3r + 13 = 14

24] Draw a line segment of length 12.8 cm. Using compass, divide it into four equal
parts. Verify the measurement each part. Label the diagram properly.

25] Draw the line of symmetry for : i] Rectangle ii] Isosceles triangle

26] Sunita travelled 15km 268m by bus, 7km 7m by car and 500m on foot. Find the
total distance travelled by her in kilometre.

27] Find the value of 37 + (- 8) — 60 — (- 11)

28] Cost of 105 files is ¥ 350. How many files can be purchased for ¥ 2007

29] Construct a circle with diameter 5 cm. Also write the steps of construction.

30] Write the general rule for the number of sticks used in terms of number of H.

H HH HH____

31] There are 25 employees in an factory. They were asked how many children
they have. The result is
1,2,310,201,221,35,20025,1,1,3,31,1,2
Construct a tally mark chart for it.
Page 2



Section C[6x 3 =18]
[Question 32 to 37 carry 3 marks each]

32] Present age of father is 42 years and that of his son is 14 years. Find the ratio of
i] Present age of father to the present age of son.
ii] Age of the father to the age of son, when son was 12 years old.

iii] Age of father after 10 years to the age of son after 10 years.

33] Afloor is 5m long and 4m wide. A square carpet of side 3m is laid on the floor. Find
the area of the floor not carpeted. Also find the cost of the carpet at the rate of 15 per
m2.

34] The number of girl students in each class of a co-educational middle school is

depicted by the pictograph. Observe this pictograph and answer the following
guestions:

Classes Number of girl students ||
I

n #C

m

v vi

v VC

Vi

Vi

VIII ,‘:

i] Which class has the minimum number of girl students and how many?

ii] Is the number of girls in Class VI more than the number of girls in Class V? If yes,
then by how much?

iii] What is the total number of girls in all classes?

35] i] Write 0.75 as fraction lowest term.

ii] Sarita’s father’s age is 5 years more than 3 times her age. What is her father’'s age if
Sarita’s present age is y years?

iii] Copy 70° using compass and ruler.

36] How many tiles will be required to pave the floor of length 2m and breadth 1.44m, if

the side of each tile is 6cm?
Page 3

37] Solve2+ 12.2
Section D [5x 4 = 20]
[Question 38 to 42 carry 4 marks each]
38] i] Abhay had % 145. He bought toffees for ¥ 53.50. Find the balance amount left
with him?

ii] A rectangular box has height h cm. Its length is 5 times the height and breadth is 10

cm less than the length. Express the length and breadth of the box in terms of the
height.

39] i] Divide %60 between Sam and Mary in the ratio 3:2.

ii] Determine 15, 45, 40, 120 are in proportion or not. If yes then write the middle term
and extreme term.

40] i] The area of rectangular box 50 cm long is 300 cm?. 15cm

Find the width of the box. Also find its perimeter. 2om

ii] Find the area of the shaded part 12 cm

3cm
41] i] Construct 90° and 30° using compass and ruler.
ii] Draw and show which English alphabet has two lines of symmetry?

42] The number of ATMs of different banks in a city is shown below:

Bank Number of ATMs
Axis Bank 15
ICICI Bank 25
Union Bank 30
State Bank of India 35
Yes Bank 10

Draw a bar graph to represent the above information by choosing the scale of your

choice.

Page 4
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A. Multiple choice questions: (10x1=10)
1. The organisms used in vermicomposting are:

a) bacteria b) earthworms c) fungi d) virus

2. Floods cause extensive damage to:

a) crops b) property and human life

¢) domestic animals d) all of the above

3. North pole of a magnet can be identified by

a) using an iron bar

b) using iron fillings

¢) another magnet having its poles marked as north pole and south pole

d) another magnet no matter whether the poles are marked or not.

4. Paheli is running short of connecting wires. To complete an electric circuit, she
may use a:

a) glass bangle b) thick thread

5. Which of the following is correct for respiration in plants?

¢) rubber pipe d) steel spoon
a) Respiration takes place only during day time

b) Respiration takes place both during day and night.

¢) Respiration takes place only during night

d) Respiration takes place only when plants are not making food

6. You might have observed the preparation of ghee from butter and cream at home.

Some methods of separation are given below:

a) Churning b) decantation ) evaporation d) filtration
Which of the following combinations is the correct answer?
a) (iv) only b) (i) and (ii) c) (i) and (iv)

7. Which of the following terms constitute the female part of the flower?

d) (i) and (ii)
a) ovary, style and stamen b) stigma, style and ovary

c) sepals , petal and stamen d) ovary, stamen and stigma

8. Which pair of substances among the following would float in a tumbler half filled
with water?

a) cotton thread, thermocol b) pin, oil drops
c) feather, plastic ball d) rubber band, coin
9. The correct sequence to get compost is:

i) Put garbage in a pit if) Cover the bottom of the pit with sand.
iii) Cover the pit loosely with a gunny bag or grass iv) Add worms
Which of the following shows the correct sequence of the above steps?

a) (ii), (iv), (i), (iii) b) (i), (ii), i), (iv)

c) (i), (i), (iv), (i) d) (iv), (i), (i), (iii)

10. “Catch water where it falls” is the basic idea behind:

a) recycling of water b) rain water harvesting
¢) making dams to store water d) condensation of water vapour

B. State true or false for the following statements: (10x1/2=5)
i) Polyester is a natural fibre.

ii) Oil mixes with water.

iii) Water can be separated from salt by evaporation.

iv) Watering in mouth when we see a delicious food item is an example of response
to stimulus.

V) The electric current flows from positive terminal to negative terminal.

vi) A compass can be used to find East — West direction at any place.

vii) Burning wastes is better than composting.

viii) Prolonged dry weather condition is termed as drought.

ix) Pure water is a good conductor of electricity.

X) Non- biodegradable wastes are used for composting.

C. Give answer in one word or a sentence: (9x1=9)

a) When does a drought occur?

b) At which place on a magnet is its magnetic force maximum? If you cut a magnet
in half, does each half become a magnet?

c¢) Define composting.

d) Mention an adaptation present in dolphins and whales to breathe in air when they

swim near the surface of water.



e) What is an electric circuit?

f) Name two methods to separate solids from other solids.

g) Why is solubility of oxygen in water important?

h) What type of garbage is collected in? (i) green dustbins (ii) blue dustbins

i) Explain why the bulb would not grow in the

—(@
=
\

arrangement shown in the given figure? £
\/
D. Answer briefly: (16x2=32)

i) Give four differences between natural and synthetic fibres.

Testeriserew drivar

if) Do you think it is better to use compost instead of chemical fertilizers?

i) Define soluble and insoluble substances with examples.

iv) Take out a cooled bottle of water from refrigerator and keep it on a table. After
sometime you will notice droplets of water around it. Why?

V) ldentify the odd one out.

a) plastic wood rubber steel

b) iron sand copper aluminium
c) metal plastic glass flowers

d) wire bulb battery rubber

vi) What is winnowing? Where is it used?

vii) Write two functions of the leaf.

viii) State two characteristics of living beings.

ix) The handles of the tools like screwdrivers and pliers used by electricians for
repair work usually have plastic or rubber covers on them. Why?

X) How are trees adapted to the conditions prevailing in mountain region?

xi) How is a compass used to find directions?

xii) How is fish adapted to survive in water?

xiii) A bar magnet has no markings to indicate its poles. How would you find out
near which end is its north pole located?

xiv) Name and explain any two methods of disposal of garbage.

xv) How will you separate sand and water from their mixture?

xvi) How do herbs differ from shrubs and trees?

E. Answer these: (8x3=24)
1. Two separate pits A and B are dug in the ground about 30 cm deep. Material C is
placed in pit A whereas another material D is placed in pit B. Both the pits are then
covered with soil. When the pits were dug up after a month, it was found that
material C remained as such but material D had rot completely. 1+1+1

a) What type of material is (i) C and (i) D ?

b) Give an example of material (i) like C and (ii) like D

¢) What is responsible for the rotting of material D?

2. Why is water called a universal solvent? How are clouds formed? 1+2

3. Name two magnetic substances. Column | shows different positions in which one

pole of a magnet is placed near that of the other. Column Il indicates the resulting

action between them for each situation. Fill in the blanks. 1+2
Column | Column i

a)N-—N

b)N-_ Attraction

iii)S—N

iv) -S Repulsion

4. What is meant by (a) a closed circuit (b) an open circuit? Draw sketches of the two
types of circuits. 1+1+1

5. A mixture contains two components W and X. The component W is a white solid
which is soluble in water. It is obtained on a large scale from sea water by the
process Y. The component X consists of tiny pieces called fillings which can be
attracted and removed from the mixture by a device Z. 1+1+1/2+1/2

a) What do you think is component W?

b) Name the process Y.

¢) Name the component X.

d) What could the device Z be?

6. Name two opaque materials. Describe the two main processes of making fabric
from yarn. 1+2

7. Draw the labelled diagram of a flower. 3

8. List two physical properties of materials. What type of climate and soil does cotton

require for a good yield? Give two uses of jute. 1+1+1
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Instructions:
- Do not copy any questions

SECTION-A

A] Select the correct statement: [7x1=7]
1] Under which tree, did Buddha attain his enlightenment? [1]
a] Apple tree b] Banana tree c] Peepal tree
2] Ashoka was inspired by the teachings of — [1]
a] Bindusara b] Buddha c] Bimbisara
3] Which of the following became the second capital of the Kushanas? [1]
a] Mathura b] Magadha c] Pataliputra
4] Which gas is responsible for global warming? [1]
a] Carbon dioxide b] Oxygen c] Nitrogen
5] An important mountain range of Europe— [1]
a] The Andes b] The Alps c] The Rockies
6] At which level does ZilaParishad actually make development plans? [1]
a] Village level b] Block level c] District level
7] Who measures land and keep land records of the villages? [1]
a] Tehsildar b] Patwari c] District Collector
B. Match the column: [6]

Column A Column B
i] Megasthenes a] Pradhan

ii] 24" Tirthankara b] Western Ghats

iii] Volcanic mountain c] Democracy

iv] Sahyadris d] Indica

v] People’s government e] Mt. Kilimanjaro

vi] PanchayatSamiti f] Gautama Buddha

g] Mahavira

h] Eastern Ghats
C. Fill in the blanks: [7x1=7]
8] Buddha went to near Varanasi, where he preached his first Sermon.
9] is the ancient name of coastal Odisha.

10]Kushanas were the rulers who controlled the route in Central Asia.

11] The uplifted blocks in Block Mountain are termed as

12] The atmosphere extends up to a height of about kilometers.
13] Members of Gram Sabha should be of minimum years of age.
14] In a Municipal Corporation, the elected members are called

D] Picture Based Questions:

15] Answer the questions based on the picture given below: [4]

-~

15.1] Identify the picture given above— [1]
a] Iron Pillar b] Stupa c] Temple

15.2] Who spent money on building the monument? [1]
a] Kings or queens b] Buddhist monks c] Peasants

15.3] What are the two stages of building the above monument? [2]
E] Source Based Questions: [4]

16] Read the passage and answer the following questions:

The climate is about the average weather condition, which have been measured
over many years. The climate of India has broadly been described as Monsoon type.
Monsoon is taken from the Arabic word ‘mausim’, which means seasons. Due to
India’s location in the tropical region, most of the rain is brought by monsoon winds.
Agriculture in India is dependent on rains. Good monsoons mean adequate rain and
a bountiful crop. Due to differences in location, altitude, distance from the sea and
relief, the climate of India is varied. Coastal places like Mumbai and Kolkata
experience moderate climate. They are neither too hot nor too cold. Being on the
coast, these places are very humid. Mawsynram in Meghalaya receives the world’s
highest rainfall, while in a particular year it might not rain at all in Jaisalmer in

Rajasthan.



16.1]The world’s highest rainfall occurs in— [1]

a] Mumbai b] Asansol c] Mawsynram

16.2] What type of climate does India experience? [1]

16.3] What are the factors affecting the climate of a place? [2]

F] Map Skill Based Questions: [6]

17.1]0n the outline Physical map of India, identify and label the following:

a] ldentify the mountain ranges marked as A and B [2]

b] Identify the plateaus marked as C and D [2]

c] ldentify the rivers marked as E and F [2]
SECTION-B

G] Very Short Answer Type Questions: [9x1=9]

18] Name the two major Schools of Jainism.

19] Who is considered as the Prime Minister of Chandragupta Maurya?

20] Who was the most famous Kushana ruler?

21] Which is the oldest fold mountain range in the world?

22] Name two continents that lie entirely in the Southern Hemisphere.

23] Which river falls into the Arabian Sea other than Narmada River?

24] Which type of forest occupies the largest area in India?

25] A Gram Panchayat is elected for a term of how many years in India?

26] Who is called the chairman of the Municipal Corporation?

H] Short Answer Type Questions: [8x2=16]
27] What are the four stages of Ashramas developed by Brahmins.

28] Mention any two functions of Shrenis.

29] Name the famous ruler of the Gupta dynasty. How do we come to know about
him? [1+1]

30] Write a short note on the geographical extent of India.

31] How are mountains useful to man?

32] Mention any twofunctions of the Gram Panchayat.

33] How can technology help the Lands Records Department?

34] Define ‘labourchowk’

I] Long Answer Type Questions: (Any Seven Questions)

cities?

[7x3=21]

35] What are the ways through which the archaeologist have found about the earlier

36] Why did kings want to control the Silk route? How did traders benefit out of it?

37] Describe the contribution of Aryabhatta to Science.

38] How are plains formed?

39] How does unity in diversity exist in India?

40] How are forest useful to us?

41] Distinguish between evergreen forest and deciduous forest
42] What are the different functions of Municipal Corporation?

43] What are main functions of ZilaParishad at the district level?

T T ¥

=~
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44
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